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Configuration.

Ruv2  = 68k
Ruv1  = 3k
Css  = 100nF
Rfb1  = 1k2
Rfb2 = 11k
Other values as per quick start 
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Under voltage lock out was shown to be 30V

The no load output voltage was 12.56V.

The start-up was clean, and the soft start took 12mS to rise to 12.56V.

The output was loaded with a 33R resistor. The output was 12.50V. The output was clean up to an input of 60V.

Rfb was changed to 22k. This was to raise the output voltage to 24V. No load

The input voltage was ramped up to the UVLO level. The output came live at 18V, but extremely noisy. This lasted for several seconds when the regulator failed.
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5 Vin(min) (V) 52
6 Vin(max) (V) 80 Vin
7 Load Current (A) 4
8 um Load Current 80% i [ =
9 CCX voltage (V) 12 Cyec = é L s+ =Cn
10 Rramp L
11 scommended IC LM5116 vee VIN -
12 L— RAMP
13 syond Max Load) 25% Ruvz
14 Current Limit (A) 5
15 lircuit Current (A) 13.0 |
16 1t Sense Method R-sense Ruvi
17 ET Rds (mOhm) 20.0 =
18
19 Rs(mOhm) 85
20
21 Fsw (kHz) 120 = =
22 Rt (kQ) 27.76 optional 5-15V>————|
23 ba—
24 Cout1 (uF) 20
25 Cout2 (uF) 7]
26 Cout (uF) 42
27 pacitor ESR (Q) 0.008
AVout (mV) 83.4
L (uH) 50.0
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